
ONE WORLD TECHNOLOGIES, INC. 
P.O. Box 1288, Anderson, SC 29622 • Phone 1-800-525-2579 

www.ryobitools.com

RYOBI 
40 Volt Power Source

Model Number RYi300BG
Mfg. Numbers 099930356 and 099930631 

Repair Sheet

995000828
8-1-19 (Rev:01)



RYOBI 40 VOLT POWER SOURCE – MODEL NUMBER RYi300BG

2

1

7

4

2

10

12
10

11

8

3

9

10

5
6



RYOBI 40 VOLT POWER SOURCE – MODEL NUMBER RYi300BG

3

 1 518728023 Upper Housing ........................................................... 1

 2 518728024 Back Housing Assembly (Inc. Key No. 12) ................. 1

 3 518728025 Back Housing ............................................................. 1

 4 315478001 Control Panel Assembly ............................................. 1

 5 518728028 Handle ........................................................................ 1

 6 518728027 Side Panel Vent .......................................................... 1

 7 529685006 LED Task Light ............................................................ 1

 8 660203001 Screw (M3 x 8 mm) ..................................................... 1

 9 662651001 Screw (M3 x 8 mm) ..................................................... 2

 10 660031017 Screw (M3.5 x 16 mm Torx Pan Hd.) ........................ 12

 11 T662318001 Screw (M4 x 13.5 mm) ................................................ 2

 12 940705432 Logo Label .................................................................. 1

  Not Shown:

  995000827 Operator’s Manual

 KEY PART
 NO.  NUMBER  DESCRIPTION QTY

PARTS LIST

The model number will be found on a label attached to the motor housing. Always mention the model number in all correspondence regarding your
RECIPROCATING SAW or when ordering repair parts.


